Quiz 13 answers
6A  16, 36

6B   none

5C   34, spreadsheet: 58

5D   14, 16, 30, 32  

6A 16.  mean 78.4,  median 79,  mode:  70, 73, 76, 81

36. dist’n has one peak, is right-skewed, and has low variation

5C.  34.  On the whole, the male performers who win Oscars are older than the female performers who win Oscars.

58. pie chart

5D.  14.  earnings increase with higher levels of education

Unemployment decreases with higher levels of education

c. ($1522 - $978)/$978 = 56%
d. Increased from 2.8% to 9%.   So it is more than 3 times as likely ( 9%/2.8% is about 3.)          Do you see why it would be very misleading to say it increased by 9%-2.8% = 6.2%?)
e. $906,000  (or something close to that.  What number you get depends on exactly how you convert weeks to years.)
16. a.  Tuition and fees are higher at private colleges because they cover the whole cost, where at public schools taxpayers cover some of the cost.

b. Books and supplies because those are coming out of the “same market” at all schools.

c. Transportation because students at private colleges probably spend more time on campus and less time in cars.  

30. a.  2003-2004; 13%

b. 5%

c. So public colleges increased 13% from about $4000 in the previous year, for a dollar increase of about $520,  and private colleges increased 5% from about $18000 in the previous year, for a dollar increase of about $900.   The private college increase is a larger dollar amount.
32. a.  wealth increased from 2003 – late 2007 and then decreased through 2008.

b. $79 – $65 = $14 billion
c. Real estate; 21/65=32%
d. The bar decreased in height from about 10 to about 6, which is a change of (6-10)/10 = 40%

e. This depends on knowing more about the economy than I really know.   If I assume that the beginning of 2009 was the low point, then I believe it has gone up since then, but probably not by very much, since we are often told that the economic recovery is going very slowly.  

f. I am not at all an expert on the economy, but I assume real estate went down since so much of the problem in the economy had to do with real estate borrowing and so there were many areas where many homes lost a lot of value.

